

ABOUT THE POLYNOMIALS SOLUTIONS OF CONTROL SYSTEMS

Le Hai Trung

The University of Danang, University of Education; trungbvnvr@yahoo.com

Abstract - In this paper, we propose a method to build up solutions (state functions) of the control systems, which transfers the system from any initial conditions in to any final conditions and at the same time satisfies conditions given to the controllability function $u(t)$ which makes it possible to find in the type of polynomials of degree $((p+1)(k+2)-1)$ with vector coefficients. In the final step, we obtain a pseudo-state function $x_p(t)$ satisfying the conditions and substituting this in the previous step. The method is based on the splitting of the spaces into subspaces and the transition from the original equation to the same equation with the subjective matrix.

Key words - control systems; state functions; control functions; polynomial solutions; control points.

1. Statement of the problem

We consider the control system:

$$\frac{dx(t)}{dt} = Bx(t) + Du(t), \quad (1)$$

where $B \in L(R^n, R^n), D \in L(R^m, R^n), x(t) \in R^n$,

$u(t) \in R^m, t \in [0, T]$, with conditions:

$$x(t_i) = \gamma_i, i = \overline{0, k+1}, t_0 = 0, t_{k+1} = T, \quad (2)$$

$(t_j, \gamma_j), j = \overline{1, k}$, are check points.

In the case of a fully controlled¹ system (1) the task of managing the search function $u(t)$ in the polynomial form, which takes the system from any state γ_0 to any state γ_{k+1} for time T , and the trajectory of the system $x(t)$ will pass through the check points $(t_j, \gamma_j), j = \overline{1, k}$.

2. Results

Specify the following theorem:

Theorem. *There exists a control functions $u(t)$ as a polynomial according t , whose order is less than or equal to $((p+1)(k+2)-1)$,² so that the solution $x(t)$ of problem (1) - (2) is a polynomial of degree $((p+1)(k+2)-1)$.*

To prove the theorem we use the following lemma (see[1]):

Lemma. *Fully manage the system (1) with conditions $x(0) = \gamma_0, x(T) = \gamma_{k+1}$ is equivalent to:*

$$\begin{cases} u(t) = D^+ \frac{dx(t)}{dt} - D^+ Bx(t) + Pu(t), \\ x_{i-1}(t) = x_i(t) + y_i(t), \\ y_i(t) = D_i^+ \frac{dx_i(t)}{dt} - D_i^+ B_i x_i(t) + P_i y_i(t), \\ \dots \\ x_{p-1}(t) = x_p(t) + y_p(t), \\ \frac{dx_p(t)}{dt} = B_p x_p(t) + D_p y_p(t) \end{cases} \quad (3)$$

with conditions

$$\left. \frac{d^j x_p}{dt^j} \right|_{t=0} = \gamma_{0,p}^j, \left. \frac{d^j x_p}{dt^j} \right|_{t=T} = \gamma_{k+1,p}^j, j = \overline{0, p}. \quad (4)$$

3. Proof of theorem

With cascade splitting of the system (1) for p steps to move the system (3), at the same time, on each i -th step of splitting get exactly $k+2$ additional conditions at the points $t_i, i = \overline{0, k+1}$ on the function $x_i(t)$ of the state of each step. That is, from the conditions (2), we pass to the equivalent $(p+1)(k+2)$ conditions on the pseudo-states function $x_p(t)$ of the last equation of (3) and its derivatives up to and including p -th order:

$$\begin{cases} \left. \frac{d^j x_p(t)}{dt^j} \right|_{t=0} = \gamma_{0,p}^j, \left. \frac{d^j x_p(t)}{dt^j} \right|_{t=t_1} = \gamma_{1,p}^j, \\ \left. \frac{d^j x_p(t)}{dt^j} \right|_{t=t_2} = \gamma_{2,p}^j, \dots, \left. \frac{d^j x_p(t)}{dt^j} \right|_{t=t_k} = \gamma_{k,p}^j, \\ \left. \frac{d^j x_p(t)}{dt^j} \right|_{t=t_{k+1}=T} = \gamma_{k+1,p}^j, j = \overline{0, p}. \end{cases} \quad (5)$$

We seek the function $x_p(t)$ as a polynomial according t of degree $((p+1)(k+2)-1)$:

$$x_p(t) = \sum_{j=0}^{(p+1)(k+2)-1} c_j t^j. \quad (6)$$

Substituting the first condition of system (5) when $j = 0$ in the expansion (6), we find the value $c_0 = \gamma_{0,p}^0$. Differentiating the series (6), with the first condition (5) when $j = 1, p$, we find the values of the first $(p+1)$ coefficients of the expansion (6):

$$c_j = \frac{1}{j!} \gamma_{0,p}^j, j = \overline{1, p}.$$

The substitution of the following conditions (5) in the expression (6) and its derivatives up to and including p -th order, leads to a system with respect to the expansion coefficients $c_j, j = p+1, (p+1)(k+2)-1$ of (6):

$$\begin{cases} t_1^{p+1} c_{p+1} + t_1^{p+2} c_{p+2} + \dots + t_1^{(p+1)(k+2)-1} c_{(p+1)(k+2)-1} = \\ = \gamma_{1,p}^0 - \sum_{j=0}^p \frac{1}{j!} \gamma_{0,p}^j t_1^j, \\ (p+1)t_1^p c_{p+1} + (p+2)t_1^{p+1} c_{p+2} + \dots + \\ [(p+1)(k+2)-1]t_1^{(p+1)(k+2)-2} c_{(p+1)(k+2)-1} = \\ = \gamma_{1,p}^1 - \sum_{j=1}^p \frac{1}{(j-1)!} \gamma_{0,p}^j t_1^{j-1}, \\ \dots \end{cases}$$

¹ see [7], [8].

² $p \in N$ is such that the matrix D_p surjective (see [7], [9]), k - number of check points.

$$\begin{cases}
(p+1)p...2t_1c_{p+1} + (p+2)(p+1)...3t_1^2c_{p+2} + \\
... + [(p+1)(k+2)-1][(p+1)(k+2)-2]... \\
[(p+1)(k+1)+1]t_1^{(p+1)(k+1)} = \gamma_{1,p}^p - \gamma_{0,p}^p, \\
t_2^{p+1}c_{p+1} + t_2^{p+2}c_{p+2} + ... + t_2^{(p+1)(k+2)-1}c_{(p+1)(k+2)-1} = \\
\gamma_{2,p}^0 - \sum_{j=0}^p \frac{1}{j!} \gamma_{0,p}^j t_2^j, \\
(p+1)t_2^p c_{p+1} + (p+2)t_2^{p+1}c_{p+2} + ... \\
+ [(p+1)(k+2)-1]t_2^{(p+1)(k+2)-2}c_{(p+1)(k+2)-1} = \\
= \gamma_{2,p}^1 - \sum_{j=1}^p \frac{1}{(j-1)!} \gamma_{0,p}^j t_2^{j-1}, \\
.... \\
t_k^{p+1}c_{p+1} + t_k^{p+2}c_{p+2} + ... + t_k^{(p+1)(k+2)-1}c_{(p+1)(k+2)-1} = \\
\gamma_{k,p}^0 - \sum_{j=0}^p \frac{1}{j!} \gamma_{0,p}^j t_k^j, \\
(p+1)t_k^p c_{p+1} + (p+2)t_k^{p+1}c_{p+2} + ... \\
+ [(p+1)(k+2)-1]t_k^{(p+1)(k+2)-2}c_{(p+1)(k+2)-1} = \\
= \gamma_{k,p}^1 - \sum_{j=1}^p \frac{1}{(j-1)!} \gamma_{0,p}^j t_k^{j-1}, \\
.... \\
(p+1)p...2t_k c_{p+1} + (p+2)(p+1)...3t_k^2 c_{p+2} + \\
... + [(p+1)(k+2)-1][(p+1)(k+2)-2]... \\
[(p+1)(k+1)+1]t_k^{(p+1)(k+1)} = \gamma_{k,p}^p - \gamma_{0,p}^p, \\
\left\{ \begin{aligned} & T^{p+1}c_{p+1} + T^{p+2}c_{p+2} + ... + T^{(p+1)(k+2)-1}c_{(p+1)(k+2)-1} = \\ & \gamma_{k+1,p}^0 - \sum_{j=0}^p \frac{1}{j!} \gamma_{0,p}^j T^j, \\ & (p+1)T^p c_{p+1} + (p+2)T^{p+1}c_{p+2} + ... + \\ & [(p+1)(k+2)-1]T^{(p+1)(k+2)-2}c_{(p+1)(k+2)-1} = \\ & = \gamma_{k+1,p}^1 - \sum_{j=1}^p \frac{1}{(j-1)!} \gamma_{0,p}^j T^{j-1}, \\ & \\ & (p+1)p...2Tc_{p+1} + (p+2)(p+1)...3T^2c_{p+2} + ... \\ & + [(p+1)(k+2)-1][(p+1)(k+2)-2]... \\ & [(p+1)(k+1)+1]T^{(p+1)(k+1)}c_{(p+1)(k+2)-1} = \gamma_{k+1,p}^p - \gamma_{0,p}^p, \end{aligned} \right. \quad (7)
\end{cases}$$

The determinant Δ_1 of system (7) is set to:

$$\Delta_1 = \left(\prod_{i=1}^{k+1} t_i \right)^{(p+1)^2} V^{k+1}(1, 2, \dots, p+1) \left(\prod_{k+1 > m > n \geq 1} (t_m - t_n) \right)^{(p+1)^2}, T = t_{k+1},$$

where $V(1, 2, \dots, p+1)$ is the Vandermonde Determinant for the numbers $1, 2, \dots, p+1$. This means that the solution $c_{p+1}, c_{p+2}, \dots, c_{(p+1)(k+2)-1}$ of the system (7) exists and is unique. Thus there exists of coefficients vector $c_j, j = p+1, (p+1)(k+2)-1$.

We have thus constructed vector - function $x_p(t)$ of the p -th step in the form of a polynomial according t of degree $t((p+1)(k+2)-1)$.

The 3-th equation of the system (3) when $i = p$ defines the function pseudocontrollability $y_p(t)$ last step. Function $P_p y_p(t)$ is an element of the subspace $\ker D_p$, to be in view of the representation:

$$P_p y_p(t) = P_p (I_{p-1} - Q_{p-1}) x_{p-1}(t)$$

to meet the $p(k+2)$ -th conditions of the mind:

$$\left\{ \begin{aligned} & \left. \frac{d^j P_p y_p(t)}{dt^j} \right|_{t=0} = P_p (I_{p-1} - Q_{p-1}) \gamma_{0,p-1}^j, \\ & \left. \frac{d^j P_p y_p(t)}{dt^j} \right|_{t=t_1} = P_p (I_{p-1} - Q_{p-1}) \gamma_{1,p-1}^j, \\ & ... \\ & \left. \frac{d^j P_p y_p(t)}{dt^j} \right|_{t=t_k} = P_p (I_{p-1} - Q_{p-1}) \gamma_{k,p-1}^j, \\ & \left. \frac{d^j P_p y_p(t)}{dt^j} \right|_{t=T} = P_p (I_{p-1} - Q_{p-1}) \gamma_{k+1,p-1}^j, \\ & j = 1, p-1. \end{aligned} \right. \quad (8)$$

This function is constructed in the form of a polynomial according t of degree $[p(k+2)-1]$ with coefficients vector:

$$P_p y_p(t) = \sum_{j=0}^{p(k+2)-1} l_j t^j. \quad (9)$$

Substituting (9) and its derivatives up to $(p-1)$ -th order, in the relevant conditions of the system (8), we obtain the values of the coefficients $l_j, j = 0, p-1$:

$$l_j = \frac{1}{j!} P_p (I_{p-1} - Q_{p-1}) \gamma_{0,p-1}^j. \quad (10)$$

Expression (9) and its derivatives up to the $(p-1)$ -th order, taking into account the other conditions (7) form a system of equations for the unknown $l_j, j = p, p(k+2)-1$:

$$\left\{ \begin{aligned} & t_1^p l_p + t_1^{p+1} l_{p+1} + ... + t_1^{p(k+2)-1} l_{p(k+2)-1} = \\ & = P_p (I_{p-1} - Q_{p-1}) \gamma_{0,p-1}^0 - \sum_{j=0}^{p-1} \frac{1}{j!} P_p (I_{p-1} - Q_{p-1}) \gamma_{0,p-1}^j t_1^j, \\ & p t_1^{p-1} l_p + (p+1) t_1^p l_{p+1} + ... \\ & + [p(k+2)-1] t_1^{p(k+2)-2} l_{p(k+2)-1} = \\ & = P_p (I_{p-1} - Q_{p-1}) \gamma_{1,p-1}^1 - \sum_{j=1}^{p-1} \frac{1}{(j-1)!} P_p (I_{p-1} - Q_{p-1}) \gamma_{0,p-1}^j t_1^j, \\ & \\ & p(p-1)p...2t_1 l_p + (p+1)p...3t_1^2 l_{p+1} + ... \\ & + [p(k+2)-1][p(k+2)-2]...[p(k+1)+1] t_1^{p(k+1)} l_{p(k+2)-1} = \\ & = P_p (I_{p-1} - Q_{p-1}) \gamma_{1,p-1}^{p-1} - P_p (I_{p-1} - Q_{p-1}) \gamma_{0,p-1}^{p-1}, \\ & t_2^p l_p + t_2^{p+1} l_{p+1} + ... + t_2^{p(k+2)-1} l_{p(k+2)-1} = \\ & = P_p (I_{p-1} - Q_{p-1}) \gamma_{2,p-1}^0 - \sum_{j=0}^{p-1} \frac{1}{j!} P_p (I_{p-1} - Q_{p-1}) \gamma_{0,p-1}^j t_2^j, \\ & p t_2^{p-1} l_p + (p+1) t_2^p l_{p+1} + ... + [p(k+2)-1] t_2^{p(k+2)-2} l_{p(k+2)-1} = \\ & = P_p (I_{p-1} - Q_{p-1}) \gamma_{2,p-1}^1 - \sum_{j=1}^{p-1} \frac{1}{(j-1)!} P_p (I_{p-1} - Q_{p-1}) \gamma_{0,p-1}^j t_2^j, \\ & \end{aligned} \right.$$

$$\begin{cases}
t_k^p l_p + t_k^{p+1} l_{p+1} + \dots + t_k^{p(k+2)-1} l_{p(k+2)-1} = \\
P_p(I_{p-1} - Q_{p-1}) \gamma_{k,p-1}^0 - \sum_{j=0}^{p-1} \frac{1}{j!} P_p(I_{p-1} - Q_{p-1}) \gamma_{0,p-1}^j t_k^j, \\
p t_k^{p-1} l_p + (p+1) t_k^p l_{p+1} + \dots + [p(k+2)-1] t_k^{p(k+2)-2} l_{p(k+2)-1} = \\
P_p(I_{p-1} - Q_{p-1}) \gamma_{k,p-1}^1 - \sum_{j=1}^{p-1} \frac{1}{(j-1)!} P_p(I_{p-1} - Q_{p-1}) \gamma_{0,p-1}^j t_k^j, \\
\dots \\
p(p-1)p \dots 2 t_k l_p + (p+1)p \dots 3 t_k^2 l_{p+1} + \dots \\
+ [p(k+2)-1][p(k+2)-2] \dots [p(k+1)+1] t_k^{p(k+1)-1} l_{p(k+2)-1} = \\
P_p(I_{p-1} - Q_{p-1}) \gamma_{k,p-1}^{p-1} - P_p(I_{p-1} - Q_{p-1}) \gamma_{0,p-1}^{p-1}, \\
T^p l_p + T^{p+1} l_{p+1} + \dots + T^{p(k+2)-1} l_{p(k+2)-1} = \\
P_p(I_{p-1} - Q_{p-1}) \gamma_{k+1,p-1}^0 - \sum_{j=0}^{p-1} \frac{1}{j!} P_p(I_{p-1} - Q_{p-1}) \gamma_{0,p-1}^j T^j, \\
p T^{p-1} l_p + (p+1) T^p l_{p+1} + \dots + [p(k+2)-1] T^{p(k+2)-2} l_{p(k+2)-1} = \\
P_p(I_{p-1} - Q_{p-1}) \gamma_{k+1,p-1}^1 - \sum_{j=1}^{p-1} \frac{1}{(j-1)!} P_p(I_{p-1} - Q_{p-1}) \gamma_{0,p-1}^j T^j, \\
\dots \\
p(p-1)p \dots 2 T l_p + (p+1)p \dots 3 T^2 l_{p+1} + \dots \\
+ [p(k+2)-1][p(k+2)-2] \dots [p(k+1)+1] T^{p(k+1)-1} l_{p(k+2)-1} = \\
P_p(I_{p-1} - Q_{p-1}) \gamma_{k+1,p-1}^{p-1} - P_p(I_{p-1} - Q_{p-1}) \gamma_{0,p-1}^{p-1}.
\end{cases} \quad (11)$$

The determinant Δ_2 of system (11) is set to:

$$\Delta_2 = \left(\prod_{i=1}^{k+1} t_i \right)^{p^2} V^{k+1}(1, 2, \dots, p) \left(\prod_{k+1 \geq m > n \geq 1} (t_m - t_n) \right)^{p^2}, T = t_{k+1},$$

where $V(1, 2, \dots, p)$ is the Vandermonde Determinant for the numbers $1, 2, \dots, p$. Thus the solution of the system (11) $l_p, l_{p+1}, \dots, l_{p(k+2)-1}$ exists and is unique.

And so we construct a function $P_p y_p(t)$ in the form (9). Then, substituting in equation (5) a function $x_p(t)$ of (6), we obtain a function $y_p(t)$ of the p -th last step as a polynomial according t of degree $(p+1)(k+2)-1$ with coefficients vector.

Substituting the expression for $x_p(t)$ and $y_p(t)$ to the second equation of the system (3) when $i = p-1$, we obtain a function pseudo-states $x_p(t)$ in $(p-1)$ -th step in the form of a polynomial according t of degree $p(k+2)-1$. And then from the 3-th equation of the system (3) when $i = p-1$, with regard to the expression for the function $x_{p-1}(t)$, we find the function pseudocontrollability $y_{p-1}(t)$ penultimate $(p-1)$ -th step in a polynomial according t with coefficients vector of degree $p(k+2)-1$. However, the function $P_{p-1} y_{p-1}(t)$ in the subspace $\ker D_p$ and satisfy $(p-1)(k+2)$ conditions:

$$\begin{cases}
\left. \frac{d^j P_{p-1} y_{p-1}(t)}{dt^j} \right|_{t=0} = P_{p-1}(I_{p-2} - Q_{p-2}) \gamma_{0,p-2}^j, \\
\left. \frac{d^j P_{p-1} y_{p-1}(t)}{dt^j} \right|_{t=t_1} = P_{p-1}(I_{p-2} - Q_{p-2}) \gamma_{1,p-2}^j, \\
\dots \\
\left. \frac{d^j P_{p-1} y_{p-1}(t)}{dt^j} \right|_{t=t_k} = P_{p-1}(I_{p-2} - Q_{p-2}) \gamma_{k,p-2}^j, \\
\left. \frac{d^j P_{p-1} y_{p-1}(t)}{dt^j} \right|_{t=T} = P_{p-1}(I_{p-2} - Q_{p-2}) \gamma_{k+1,p-1}^j, \\
j = 1, p-2
\end{cases}$$

and in a polynomial according t of degree $(p-2)(k+2)-1$.

Furthermore, acting by induction, from the 2-th equation of system (3) we find the function pseudo-states $x_i(t)$, i -th step of decomposition in the form of polynomial according t of degree $(p+1)(k+2)-1$ with coefficients vector, and from the 3-th equation of the system, taking into account the expressions for the $x_i(t)$, corresponding functions pseudocontrollability $y_i(t)$ i -th step also in the form of polynomials according t of degree $(p+1)(k+2)-1$ with coefficients vector. At each i -th step function $y_i(t)$ will contain an element $P_i y_i(t)$ in subspace $\ker D_i$ and satisfy $(i+1)(k+2)$ conditions:

$$\begin{cases}
\left. \frac{d^j P_i y_i(t)}{dt^j} \right|_{t=0} = P_i(I_{i-1} - Q_{i-1}) \gamma_{0,i-1}^j, \\
\left. \frac{d^j P_i y_i(t)}{dt^j} \right|_{t=t_1} = P_i(I_{i-1} - Q_{i-1}) \gamma_{1,i-1}^j, \\
\dots \\
\left. \frac{d^j P_i y_i(t)}{dt^j} \right|_{t=t_k} = P_i(I_{i-1} - Q_{i-1}) \gamma_{k,i-1}^j, \\
\left. \frac{d^j P_i y_i(t)}{dt^j} \right|_{t=T} = P_i(I_{i-1} - Q_{i-1}) \gamma_{k+1,i-1}^j, \\
j = 0, i,
\end{cases}$$

which is a polynomial according t with coefficients vector $i(k+2)-1$.

Thus, in the last step, taking into account the expressions for the functions $x_1(t)$ and $y_1(t)$, from the second equation (3) when $i = 1$, we find the function $x(t)$ of the source system (1) as a polynomial according t with coefficients vector $(p+1)(k+2)-1$.

The 3-th equation of (3) when $i = 1$, after substituting the expressions for $x(t)$, giving expression to controllability function $u(t)$ of the original system (1). Function $Pu(t)$, as a member of the term in the formula for $u(t)$, the subspace $\ker D$ is chosen at random and it imposed no restrictions.

The theorem is proved.

REFERENCES

- [1] Андреев Ю. Н. Управление конечномерными линейными объектами, М.: Наука, 1976. – 424с.
- [2] Зубова С.П., Раецкая Е.В., Ле Хай Чунг, *О полиномиальных решениях линейной стационарной системы управления*, Автоматика и Телемеханика. No: 11. стр: 41-47. 2008.
- [3] Зубова С.П., Ле Хай Чунг, *Полиномиальное решение линейной стационарной системы управления при наличии контрольных точек и ограничений на управление*, Spectral and Evolution problems, No: Vol. 18. стр: 71 – 75. 2008.
- [4] Зубова С.П., Ле Хай Чунг, *Построение полиномиального решения линейной стационарной системы с контрольными точками и дополнительными ограничениями*, Системы управления и информационные технологии, No: 1.2(31). стр: 225 – 227. 2008.
- [5] Красовский Н. Н., *Теория управления движением*, М.: Наука. 1968. – 476с.
- [6] Ле Хай Чунг, *Полиномиальное решение задач управления для линейной стационарной динамической системы*, Дисс...канд. физ. – мат. наук. Воронеж 2009.
- [7] Раецкая Е. В., *Условная управляемость и наблюдаемость линейных систем*, Дисс...канд. физ. – мат. наук. Воронеж 2004.

- [8] Раецкая Е. В., *Критерий полной условной управляемости сингулярно возмущенной системы*, Оценки функции состояния и управляющей функции, Кибернетика и технологии XXI века: V международ. науч. – тех. конф., Воронеж, 2004. с.28 – 34.
- [9] S. P. Zubova and Le Hai Trung, *Construction of polynomial controls for linear stationary system with control points and additional constraints*, Automation and Remote Control, No: Volume 71, Number 5. Pages: 971-975. 2010.
- [10] Le Hai Trung, *Solution of polynomials linear stationary system with conditions to state function and controllability function*, *Tạp chí Khoa học & Công nghệ Đại học Đà Nẵng*, Số 6(79), 2014, Quyển 1. Tr. 110 – 115.

(The Board of Editors received the paper on 01/10/2014, its review was completed on 26/10/2014)